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Homework: Use the quadratic formula to solve
(If possible). Check the discriminant to verify solution type.

1. x*-49=0 2.x*-5x-36=0
asl ><—~b+~l'b_‘_7£ac\
b=-s
T Y@W 0%

X< S*Vm\“\i;y 34-|3

¥ =51y ,\»56

3. x2-7x=-3 4. 2%+ 5x+ 4307
5. 2x2+5x-7=0 6. n>-n-20=0

7.3 +2t-3=0 8. 1.5p?-9p +22=0
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Homework: Use the quadratic formula to

solve.
2 —_
1. x°-49=0 1. 2 Rational Solutions: x =7 and x = -7
2. X2 -5x-36 =0 2. 2Rational Solutions: x = -4 and x = 9
3. X2 -7x =-3 3. 2 Irrational Sol: x = (7+-/37)/2
X = 6.541 and x = 0.459
4. 2x>+5x+4 =0

4. 2 Imaginary Solutions: x = (-5+-/-7)/4
No real solution
5. 2x*+5x-7=0 5. 2 Rational Solutions: x =-3.5and x =1
6. Nn2-n-20=0 6.2 Rational Solutions: n=5 and n=-4
7 3t2+2t-3=(Q 7 2ZIrrational Solutions: t = (-1+-/10)/3
t=0.721 and t=-1.387
8. 2 Irrational Solutions: p = (9+-2/33)/3

2 _
8. 15p - gp -22=0 p=6.830 and p= -0.830
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